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Run 6167 quartetwise, Asyms0 (Raw): All

x10 quartetwize_asym(
B — Enlries 529375
500 [ Mean 1385
B Sid Dey  1.03%+06
400 —
300 —
200 —
100 |—
lD_Ill|||||||||||||||||||||||||||||||||||||||||||||::"5;-”:’ﬁ
—-100 0 100 200 300 400 500 600 700 800

HelNSamples0)/|PosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 22.302561)

Run 6167 guartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Run 6167 quartetwise, Asyms0 (Raw): Beam OFF
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Run 6167 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
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Run 6167 quartetwise, Difts0: All Run 6167 quartetwise, Diffs0: Beam OFF
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Run 6167 quartetwise, Diffs0: Beam ON, Laser ON Run 6167 quartetwise, Diffs0: Beam ON, Laser OFF
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Run 6167 quartetwise, NegHelAccO/NSamplesQ: All
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Run 6167 quartetwise, NegHselAccl/NSamplesl: Beam ON, Laser ON
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Run 6167 quartetwise, NegHelAccO/NSamples(: Beam OFF
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Run B167 quartetwise, NegHselAccl/NSamples0: Beam ON, Laser OFF
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Run 6167 quartetwise, PosHelAccO/NSamplesC: All
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Run B167 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON
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Run 6167 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 6167 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF
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Run 6167 quartetwise, Sums0: All
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Run 6167 quartetwise, Sums0: Beam ON, Laser ON
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Run 6167 quartetwise, Sums0: Beam OFF
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Run 6167 quartetwise, Sums0: Beam ON, Laser OFF
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